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True False
1 Tick true or false for the following.
a) The windmill is further south than the church.
b) The church is further west than the telephone.
c) The windmill is south east of the public house.
d) The windmill is south east of the church. E
e) The lighthouse is more than 2km from the church. ?
2 Answer telephone, marsh, public house or windmill to the following. E;
a) The is in square 2411. c)The_isinsquare 2212. g
b)The _ isinsquare 2409. d)The ______isinsquare 2210. i
3 Use the map scale to give the lengths of each of these lines in kilometres. 2
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4 Give the following distances in kilometres. 3
a) The public house to the windmill is km. }:f)
b) The post office to the youth hostel is km. ‘f
¢) The lighthouse to the windmill is km. é
: 3
5 Give the six figure grid reference for each of the following. ?
a) The lighthouse ¢) The youth hostel %
b) The golfcourse ... d) The church f’%”
o
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1. Tick true or false for the following:

	
	True
	False

	The windmill is further south than the church
	
	

	The church is further west than the telephone
	
	

	The windmill is south east of the public house
	
	

	The windmill is south east of the church
	
	

	The lighthouse is more than 2km from the church
	
	


2. Answer telephone, marsh, public house or windmill to the following:

a) The PUBLIC HOUSE is in square 2411.
b) The WINDMILL is in square 2409.

c) The MARSH is in square 2212.
                     d) The TELEPHONE is in square 2210.

3. Use the map scale to give the lengths of each of the lines below in kilometres 
(round up to nearest 1/2km).
a) ___ km.


b) ____________________ km.

c) __________ km.

d) ________________________________________ km.

4. Give the following distances in kilometres.

a) The public house to the windmill is 2 km.

b) The post office to the youth hostel is 4 km.

c) The lighthouse to the windmill is 3.5 km.

5. Give the six figure grid reference for each of the following.

a) The lighthouse    258127

b) The golf course 220115
c) The youth hostel 266098

d) The church        235105
